(\  Reasoning

\ \
26. Therriver flows from west to east and on the  way then turns left. After going some distance it encounters a hill. It goes around the hill
counter-clockwise in a quarter circle, and then tunls righf In which direction is the river finally following?

A North D

4
B South '/( 9
C East \\\_/
D West

Answer: C J_/,,V-"' <
]

Explanation:

Let the river start from point A and ﬂowstov\iards B, then turns left and reach at hill C. It goes around the hill counter-clockwise in a quarter

circle to reach D, and then turns right flnally to reach E.
i

D E

A B

Thus, river is flowing in east direction.

=>Ans - (C)

Enroll To CAT 2023 Comprehenswe Course

27. Based on the statement given below which of the following option |/s/correct.;£

Whenever Preeti’s father is in town, she abstains from school and’goes to h¢r aunt s hous\e
| I’ |
J J \
,' / ', 5 \ _,’I, /
a) If Preeti has not abstained from school or she has not gong ohe } Sheuse, it means that her father is not in
town. '

\

.
| 7 P
f |

/ B Y
2 J ]
A | |
B b) If Preeti has not abstained from school but her father IS in tovOn then she will definitely go to her aunt’s house.

t_‘-.,, —

C <) If Preeti has abstained from school but she has not gone to her éunt’s house, it means that her father is not in town.

D d)Both(a)and(c) B
sy
Answer: D Ao ‘~\.| -
N/
Explanation:

We are given that :Whenever Preeti's father is in town, she abstains from school and goes to her aunt’s house.

Now option A says If Preeti has not abstalned from schpQI or she has not gone to her aunt’s house, it means that her father is not in town.
Now this can be inferred \_ B i\ —

Option B says If Preeti has not abstained from sc‘hodfbu‘t her father is in town, then she will definitely go to her aunt’s house.This cannot be
inferred as we cannot say she will surely go to her aunT‘s house

option C says If Preeti has abstained from school but she has- ng"t gone to her aunt’s house, it means that her father is not in town. this can
also be inferred as she has not gone to her aunt's house

So A and C both can ne inferred /
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28. Four friends, namely, Liyaqat, ‘Lillian, Lima and Lalit are sitting on a horizontally placed wooden bench, all looking towards the same
direction. (
If: 2N\
There is at Ieast\one ' person sitting between Lillian and Lima;
Liyaqat is towards the ﬂght of Lima but not towards the right of Lalit;
Lalit is seated immediately next to Lillian; &
Lima is-’ée'eted at one of the extreme corners of the bench.

|

f
Wh|cI1 of the foIIowmg is definitely true?

Q. / /]
&

A Lillian andhyaqat are seated immediately next to one another.

B Liyagat is seated at one of the extreme corners of the bench.
C There is at least one person seated between Lalit and Liyaqat. A

D There is at least one person seated between Lalit and Lima. o

Answer: D Y N

Explanation: f "» f\—/
Lima is seated at one of the extreme corners of the bench. Liyagat is towdrds‘the r/ght cif Lima

.' L /x’/ — "\. \
N \ﬁ )
There is at least one person sitting between Lillian and Lima, => Now there are tchase’s when there is 1 person between them and when

there are 2. v_.

=> Lima is at left end of row.

Liyaqgat is towards the right of Lima but not towards the right of Lalﬁ;\.\

Casel: O
lima | Li Lalit | Lill &R )
ma | Liyagat alit illian )y /)
Casell: Y

Lima | Livagat | Lillian | Lalit 0\

, \

Thus, only statement which is definitely true\sﬂfaﬂheref |§ Jieast»one person between Lalit and Lima.
=> Ans - (D) \“ﬁ

\'\._ .
29. Ali, Benu, Cutty and Dolly play four different games among Basketball, Cricket, Kabaddi and Hockey. Ali does not play Basketball or
Cricket. Benu does not play Kabaddi perockey. Cutty plays Hockey and Dolly plays either Basketball or Hockey. Who plays cricket?

' \ "7
A Al ',\
..\i\\\ _ ,/
B Benu —
C Cutty oY
’,/' l_,f’ / \ .
D Dolly @ g Y
[ ]
\ )
Answer: B l\ \\ A/
(54 ‘
Explanation: ' \

It is given that Cutty" pl\ys Hockey
Dolly plays either Basketball or@ckey, => Dolly plays Basketball.
Ali does not pjey-'BasketbaII or Cricket, => Ali plays Kabaddi.

Thus, only oﬁé left now is Benu plays Cricket.
=>Ans-(B) \, /'/,/'
A4
=
30. A National Highway road network has parallel and perpendicular roads running north south or east west only. Junctions/Intersections
on this road network are marked as R1, R2, R3, R4... All roads are at exactly half a kilometer distance from each other. The following is

known about junctions R1, R2, R3, R4, R8 and R24.
“R71’ is east of ‘R2’ and west of ‘R3’; ‘R8’ is southwest of ‘R3’ and southwest of R2. ‘R2’ is southeast of ‘R24’. Which junctions are the

farthest south and the farthest east? __/' /

y f
A '
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A RL,R2
B RS, R3 NEY S 4

C R3,R8 N ¥

D R2,R8

Answer: B \J

Explanation: .
On reading the Roads can be placed as :

R24

R2 R1 R3

R8 R

.

We can say R8 R3 are the farthest south and farthest east

31. 125 small but identical cubes have been put together to form a large cube. How many such small cubes will be required to cover this
large cube completely?

A 208 \\ Y.
B 212 =
C 254 ="
D 218
[ )\
Answer: D W\ 4
Explanation: (7

125 small cubes havgjbﬁebn together, so we have a 5x5x5 cube.

So,if we want to cover it \é‘om'pjetgly we've need to cover all the sides of it completely, we will just put same cubes over the one of the sides of it
and then from both the sides we'vé to spread it just by one row and so it will cover it properly, and do it for all the other sides.

So, now we wﬂl"ﬁave a 7x7x7 cube.

Thus, numbbr.of cubes reqprred tocoverit= (7 X 7x7)—(5x5x5)=218
=> Ans- (D) | S »

In short, to cover if bo‘rﬁfpletely, cubes required = (n + 2)3 — (n)3

and to make it hollow, cubes removed = (n)? — (n — 2)3

32. Five boys Ganesh, Hitesh, Ishan, Jaikee and Kailash always compete with one another. Ishan gets more marks than Kailash and
Jaikee gets less marks than Ganesh. Hitesh gets more marks than Jaikee and Kailash.
Whose marks among the following could be the lowest? '

A Ganesh | ‘;'
B Hitesh 1 4 =
" 4 N\
C Ishan A )
L ey Yy,
D Jaikee =
Answer: D '
Explanation: = >

Hitesh gets more marks than Jaikee and Kailash, : H > J, K /. ) ‘, )

Ishan gets more marks than Kailash and Jaikee gets less marks"'cha-ﬁ_'._Ganes)/h,“: I>KandG>J
From above statements, we can conclude that one of e_i_ther Jaikee or Kailash could be the lowest.
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=>Ans - (D) Q \

g T

2 e

CMA% \’e\SoIved Previous Papers.

33. Below given question has a main statement followed b}“f?)ur statements labeled A, B, C and D. Choose the ordered pair of statements,
where the first statement implies th»ﬁcond and the two statements is logically consistent with the main statement.

All cubes are round in shape.

(A) Figure A is not round in shape. /
(B) Figure A is a cube. 4
(C) Figure A is not a cube. =

(D) Figure A is round in shape.

z"_‘“--\.._\_
— k\h‘“\.._\
A CA / o5

B DB
C AC (7
\\
D AB
[
Answer: C ~
/}
Explanation )
Given, All cubes are round in shape
From the abo ¢ , it can be inferred that

If a figure is round implies it may or may not be cube because there will be other figures which are round.

If the figure is not cube implies it may or may not be round.

If the figure is not round in shape implies it should not be cube.
If the figure is cube implies it should be round. /
Hence, AC and BD will be logically consistent statements with the main statément.

34. If a+ b means a is sister of b, / |m
a - b means ais brother of b, | \ \_)
a x b means a is daughter of b, V ) o
a + b means a is mother of b, /H
husb#@
\

Which of the following relationship shows that p and r are wif (}1\4

A p+qgxr \.
B p-gxr N

C p+qgxr \\/I\
D p+q-r \

Answer: A
Explanation: QQ e
Let us verify the options.
Option (A): \

p + g, means p is mother of q. //>

g xr, means q is daughter of r.

The above two statements together tells u t,pist ife of r. Hence wife and husband relationship exits between p and r.
Therefore option (A) is the answer.

Option (B):

p - g, means p is the brother o

g xr, means q is daughter of r.
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The above two statem?ﬁ;s together doesn't tell us that p and r are related as wife and husband.
n

Hence, Option (B) is &eanswer.
Option (C):

Hence, Option i e answer.

Option (D):

p + g, means p is the sister of q.

g-r,,means q is the brother of r.

The above two statements together doesn't tell us that p and r are related as wife and husband.

Hence, Option (D) is not the answer

DEMONITISATION be written in the same language?

A 159
B 169

C 167

D 166

Answer: C

Explanation:

If we add the numbers denoted by each aIphabet,w\vE'/

umber them as A=1, B=2, C=3.....Z=26

FRIGHTENS:6 + 18 +9+7+8+20+5+ 14 + 19 =
SIMILARLY: 19 +9+13+9+12+1 418 + 12 +25 =118
DEMONITISATION : 4 + 5 + 13 + 15 + é+9+20 9+19+1+20+9+ 15+ 14 = 167

=>Ans - (C)

= Take a free CMAT mock test

36. Four packets P, Q, R and'S, three wa \A, B and C are kept on a table one after the other in a row from left to right. Wallet C has as
many items to its left as to it packet is at any extreme end of the row.Packet P is kept to the immediate left of packet R.
Packet P is to the immediate Fi allet A. What is kept third from left end of the row on the table?

0
. %§

C R /?

Explanation:
Wallet C has as many items to its left as to its right, => Wallet C is in middle.

No packet is at any extreme end of the row, => A and B are at ends. //

Packet P is to the immediate right of wallet A, => A is at extreme left end.
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A F C

Wit | Pkt | Pkt | wit | Pkt | Pkt | Wit
Packet P is kept to the immediate left of packet R.

Thus, B is at extreme right end.

Al P | R | C Q|5 E

Wit | Pkt | Pkt | wlt | Pkt | Plt | Wit

.. Packet R is third from left end.
=>Ans - (C)

37. A green grocer sells five types of fruits- Apple, Black berry, Banana, Cherry and Peach. Black berry is more fresh and heavier then
Peach. Apple is heavier than Banana and more fresh then Cherry. Cherry is heavier then Black berry, but less fresh than Peach.
Banana is heavier than Black berry, but less fresh than it.

Which of the following is the lightest of all the fruits?

A Peach
B Black berry
C Apple

D Banana

Answer: A

Explanation: .
We need to find the lightest friit, so we will take the weight scale only.

Cherry is heavier then Black bérry and Black'berry is heavier then Peach,: C>BB > P
Apple is heavier than Banana, : A>B ™

Banana is heavier than\Black berry, : B > BB

Combining above stafeme'nts, weget: A>B>BB>P andC>P

Thus, we can conclude that Iseaéh‘is the lightest.

=>Ans-(A) /,

38.2374321573271098754723
Find the'number of 7/in the given series that are followed by an even number but are not preceded by a prime

number?- >
A 1
B 2
Cc 3
D 4
Answer: A
Explanation:

Number of 7 in the given series that are followed by an even number but are.not plrecede_d‘by a prime number
= (not a prime number) (7) (even number) . >
2374321573271098754723

Thus, there is only one such 7.

=>Ans - (A)

Download Excellent App for CMAT Preparation
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39. Each of the three kids gets at least o Ior box ‘t of 6 color boxes, at least one tiffin box out of 6 tiffin box and at least one
chocolate box out of 6 chocolate boxes th humbér of the items that each of them gets is the same. No one gets the
same number of tiffin boxes, color boxes an E\te boxes. Then which of the following can be TRUE?

“"\_

A Each Kid gets 2 tiffin boxes, 2 colqr//ﬁoxes and 2 chocolate boxes.

B Each Kid gets 2 tiffin boxes and éolor boxej

C Each Kid gets 1 color box, 2 choco \efbmg/ and 3 tiffin boxes.

The number of tiffin boxes coIor boxes and chocolate boxes that each Kid gets is 1, 2 and 3 not necessarily in that
order.

Answer: D

Explanation:

Each of the three kids @s at least one color box out of 6 color boxes, at least one tiffin box out of 6 tiffin box and at least one chocolate box
out of 6 chocolate boxes,so that the total number of the items that each of them gets is the same. No one gets the same number of tiffin
boxes, color boxes an late boxes.

It is given that the total number ofthe items that each of them gets is the same.
Total numben:/ items=6+6+6=18

So each on

Then the number of items with each must be 1,2,3.

tiffin boxes color boxes chocolate boxes.

1 2 3
2 3 1
3 1 2.

Only option D is correct. /f\m\

40. A, B, C, D, E, F and G are seven members in a family, out of which th: |/e ar threQ emale bnd four males. There are two architects,
two travel agents, one teacher, one engineer and one doctor. NJH la oran engineer. C is a travel agent and is
married to A, who is a teacher. F, the engineer, is married to D, Mh vel agent nor a doctor. No two ladies have the same
profession. B is the sister of G who is an architect. Z//\
What is E’s profession?

5
\'\/)
A Architect
%
B Travel agent \\

C Engineer \\\_//')

D Doctor

Answer: B Q

Explanation:
No lady is either a teacher or an engineer. No two ladies h \hﬁ; same profession.

—

=> The three females will be doctor, architegtfand travel agent each.

Cis a travel agent and is married to A, who is a teacher, => A is male and C is female.

F, the engineer, is married to D, => F is ma emales are engineer) and thus D is female.
D is neither a travel agent nor a doctor, =>D i

B is the sister of G who is an architect, => B the last remaining female is doctor, and thus G and E are the remaining males.

.

B

—
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m| A Teacher

f|E Coctor

f | C| Travel Agent

f | D| Architect

m | E | Travel Agent

m | F Engineer

m | G| Architect

Thus, E is a travel agent.
=>Ans - (B)

41. There are six members - Pills, Qills, Rills, Sills, Tills and Uills in a family. There are two married couples.Qills is Bengali and is the
father of Tills. Uills is the grandfather of Rills. Uills is from Tamil Naidu. Sills is the'grandmother of Tills and Sills is from Punjab.
There is one Bengali, one Tamilian, one Punjabi, one Telegu and two Haryanvis in the family. The Telegu person is a female and
married. Nobody who is a grandchild is married.

Which of the following two are married couples?

A Pills Qills, Uills Sills
B Pills Sills, Qills Uills
C Pills Rills, Qills Sills

D Pills Uills, Qills Rills

Answer: A

Explanation:
Qills is Bengali and is the father of Tills. Sills/is:the grandmother of Tills and Sills is from Punjab

=> Sills is mother of Qills.

Uills is the grandfather of Rills., => Uillis is husband of Sills.

Also, Rills and Tills are grandchildren and siblings.

The Telegu person is a female and married, => Pills is wife of Qills.

The remaining two Rills and Uills are Haryanvis.

f | P | Telugu

m | Q| Bengali

m/f| R | Haryanyi
f | 5| Punjabi

m/f | T | Tamilian

m | U | Haryanvi

The married couples are :

U( ) emmmm 5}

.~

QM) e B (£ }

=>Ans - (A)
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42. Complete the below given series:-

0,6,6,20,20, . &

& \a‘m )
A 42
\ z /
B 40 V.
l\";\\
c 26 >
N )
D 3 ‘\\4//
Answer: A —
(\
Explanation: &
3 \
0=121 . ===
O
6 = 2242 N
O
6 =323 P
:/‘
20 = 42+4 ( (
;
20=52-5 /
\\________,//
42=62+6 N

Option A is correct.
i

43. Looking at Samir, RahuI(% ?tknnly brother is the father of my daughter’s father”. How is Samir related to Rahul?

3)‘/

A Father

B Grandfather (\?

C Brother-in-laws\‘“\_
O

D Uncle
7

Answer

Explanatlon
Father of Rah\’S\d er s father = Rahuls' father

Now, Samir's only brother = Rahul's father
=> Samir is Rahul's uncle.

=> Ans - (D) /

44. Kapila, Meenal , Rishi , Pradeep and Lalita have five flats in different b9ilﬁfing of five different colours- Blue, White, Red, Orange and
Green. The Green building is the shortest of all the buildings and Pradeep s flatis in |t he building in which Lalita’s flat is located, is
neither Blue nor White in colour and is taller than the building in wﬁlch Meenal's; s flats are located. One person’s name
starts with the same letter as the first letter of the building’s coltﬁu n/whic he*r S|des z’n)d it is the second tallest of all. Which of the
following can be TRUE about the resident of the building, its coléur Pd i helgl}i

' ,/ ~ \
A Lalita - Blue -Shortest /\ \
O x/)
B Meenal - Red - Tallest X 3“
\

e ) 2
C Lalita - Orange - Tallest Q\ \\\
~

~

D Pradeep - Green - Tallest \\\E
& |
Answer: C N)

Explanation: /
The Green building is the shortest of all the b/Liildings ar\;}\Pradeep’s flatis in it (5-shortest and 1-tallest)
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One person’s name starts with the same letter-as-the first |etter.of-therbuilding’s colour in which he resides and it is the second tallest of all.

=>There is only one such combination, Rishi and Red:

Height | Person | Colour

Kapila

Meenal

2 Rishi | FRed

5 Fradeep | Green

Lalita

The building in which Lalita’s flat is located,/is neither Blue nor White in colour, => Lalita's flat is Orange.

Also, Lalita's building is taller than RIshi'sbuilding, => Its the tallest.

Height | Ferson | Colour

Kapila

Meenal

2 Rishi | Red

5 Pradeep | Green

1 Lalita | Crange

Thus, only true combination is : Lalita-Orange-Tallest.

=>Ans - (C)

Join MBA Telegram Group

45. Five theatres PVR, DT, Chanakya, Regal and Maratha Mandir screen two out of ten films'based on
Romance, Thriller, Horror, Adventure, Children, Drama, Documentary, History, Religion and Cartoon. Each
theatre exhibits only two films and allots two different slots for them, wherein slotTiis’hefore slot Il. Chanakya screens a Horror film in
the first slot, while Maratha Mandir exhibits a Historical film in/the/second-slot. DT exhibits a thriller film in the second slot and Regal

exhibits a documentary film.
Drama must be exhibited only in the second slot. The children’s film and the Cartoon film are exhib ited in the same theatre while the

religious film is not in the
first slot. If Chanakya screens a Religious film in its second slot, then which'of the films can be screened by theatre Regal?

A Cartoon and History
B Documentary and Drama
C Documentary and History

D Horror and Documentary

Answer: B

Explanation:
Chanakya screens a Horror film in the first slot, while Maratha Mandir exhibits a Historical film in the second slot. DT exhibits a thriller film in

the second slot and Regal exhibits a documentary film.
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Theatre | Slotl Slot i

PVER

CT Thriller
Chanakya | Horror

Regal
Maratha .
Mandir Historical

{Drama)

{Documentary)

The children’s film and the Cartoon film are exhibited in the same theatre, => Only.theatre with two slots left is PVR.

Theatre Slot | Slot 1l
Children/ | Cartoon/
FVR .
Cartoon Chlldrenl
oT Thriller
Chanakya | Horror
Regal
Maratha Historical
Mandir istonca
{Drama)

{Documentary)

Religious film is not in the first slot, => Religious and Drama are in"second-slot, and thus Documentary is played in Regal in first slot.

Theatre Slotl Slot 1l
Children/ Cartoon/
FVE .
Cartoon Children
OT Thriller
Reliai
Chanakya Horror eligious/
Crama
Crama
Regal Cocumentary L. /
Religious
Maratha . .
) Historical
Mandir

.. If Chanakya screens a Religious fjlm in its second slot, then Documentary and Drama films can be screened by theatre Regal.

=> Ans - (B)

46. Three girls K, L, M/and three boys N, Z and P are sitting around a table facing inwards playing cards. K and L do not sit next to each
other. Z and P are opposite each other. M is sitting to the immediate right of P. If K is not between Z and M, then N is not next to P.
Which of the following.is not an arrangement (in clockwise direction) satisfying the conditions given above?

A NKZLMP
B PKN Z|LM
C LN ZKMP
D KMPLN Z
Answer: A
Explanation:

The last condition i.e If Kiis not between Z and M, then N is not next to P which'is not satisfied in option A.
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In Option A, N is next to P since it is a circular arrangement. N / T
/ | v'-' ‘J' Y /)
Hence, the correct answer is Option A / ,' 4 } _\_J‘f/'

47. Ten candidates appear for an interview and six of them are selectdd ‘i’hew are- tho M.Techs, two MBAs, two MBBS and four LLB
among the candidates. At least one MBA candidate is selected ofk‘{le six éelected 1
candidates, exactly one must be an M.Tech candidate. If two MBBS cahdldates gre 'selected, then which of the following statements

can be TRUE? ‘-\'
A One MBA and one LLB candidate are selected. a
. \'\ '\-\7
B Three LLB candidate are selected. & )\
=3 --/_‘.';.”1
C Only one MBA and two LLB candidates are selected. =

D One M.Tech and three LLB Candidates are sé\l‘e\cted.

Answer: C \l\l,--- =
:H --:\3 -
Explanation: 2

Course | M.techs | MEAs | MBES | LLB '

Total

(10} 2 2 2 | 4 7
Selected 1 5 » /

(6) -

3 candidates are already selected and now at Ieast one MBA candidate is selected.
Casel:1MBAand 2 LLB candi,d/ates-afe-selected

Casell:2 MBA and 1LLB candldatejs are seleoted

Case lll : 1 each of M.tech, MBA anci L\LB candldate is selected.

Thus, case | matches thethird optlon o

V|

=>Ans - (C) &3\
(s
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48. All stuﬂénts are young; some young are short; all short are stout; most stout are clever; all clever are courageous, then which of the
foIIOV\hng is most deflnltely false?
|\ / /
\, -

A Some studenfs are stout

B Some young are courageous

C Most stout are courageous A1
P
D All stout are courageous // /
| o)
/ | T,
Answer: D | &
A { i.- )
{ ! | |
| "- /J A J |
Explanation: | 4 ). j\~/

We have most stout are clever and all clever are courageous, however stdtémentpsays All stout are courageous which is definitely false as
there will be stouts which will neither be clever and or be courageous so [Q is deffmtely fals‘e

49. Arvind, Saurabh, Romy and Denu, have different quallflcatlons’ The;;—ahayhcatlons are MBA, B.Tech, M.Tech and LLB - not
necessarily in that order. Arvind and Romy are not MBAs, whereas Saurabh“and’ Romy are not LLB; Romy and Denu are not B.Tech,
whereas Denu and Arvind are not M.Tech. L g
If Saurabh is a B.Tech then which of the following should bé~a_r?}MIiA?

\“\
N \'\l '\\ J
A Romy 8 14
~ \\\ /__.r /
. \._\ -y _.‘
B Arvind e
C Denu (\
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Either Romy or Denu

Answer: C

Explanation:
Data arranged as per the statements

MEA | B.-Tech | M. Tech | LLE
Arvind X X
Saurabh X
Romy X X X
Cenu X X

Now if Saurabh is a B.Tech, then Denu should be an MBA.
=>Ans - (C)

50. Five delegates P, Q, R, Sand T are forwarding their files to one another. P sends his file to Q, S and T, T sends his files to R while P
and R exchange their files with each other. Q sends his file to S who sends his files to T. If P has to forward his files to R, then in how
many ways P can forward files to R?

A Two

B Three

C Four

D One
Answer: C

Explanation:

From the given data, we can cmpile the following table

P Q R S T

“~_Receiver
Sender

.

~,

v v

AN

EIFREIRFIE
{

This table represents that Sender P will send files to @RS and T

The various ways of transferring files from to PR is

1)PR

2)PQSTR

3)PSTR
)PTR

S

Hence 4 ways..
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